Practice test 1 - Memo Total: 25 marks

Count and write the number sgmbo|s and number names. (s)

Number‘ SHI’T\L)O' Number‘ name

1 seven

20 6 SIX
~ 8 eight

10 ten

Do the f\o”owing addition calculations. ()

— No marks allocated if the
8 + 6 - IL learner did not show how
the answer was reached.
Circles or lines MUST be

OOOOOOOO OOOOOO drawn. If there are no
circles, the answer is
12 + 5 =17 kil

000000000000 00000

9+ 7 =16

000000000 O000000

Dou|o|in3: (3)
. No marks allocated if the
3 |S 6 learner did not show how
the answer was reached.
Circles or lines MUST be
3+ 3=2¢6 drawn. If there are no
000 000 circles, the answer is

wrong.




5 1S 10

5+ 5 10

00000 00000
7 1S IL
74+ 7 =14

0000000 0000000

A f\qr*mer‘ l’lGS L COWS, 2 sl'meeP GhCI I Plg HOW mang anima|s cloes

he I'\CIVG a|'bogether‘? (3) (Three marks in total: one mark for the correct sum: one

mark for showing how you Sot the answer - circles or Pictures drawn: one mark for the
correct answer that MUST include the correct word)

4+2+|=7animd|s

0000 00 O
Build up the following - bonds (o)
I > No marks allocated if the

2 + 3 — 5 | + L — 5 learner did not show how
the answer was reached.
Circles or lines MUST be

O O O O O o O O O O dra\INn.ILthereareno
circles, the answer is
wrong.

L+ 2 =6 | + 5 =6

OO0O0O0O00O OO0O00O00O

54 2 =7 3+ L =1

O0O0O0OO0OO0O O000O0O0O



Count backwards from so to

(2)

50 | 49 | A8 | 4T | L6 | L5 | L | L3 | L2 | Ll
L0 | 39 | 38 | 37T | 36 | 35 | 34 | 33 | 32 | 3I
30 | 29 | 28 | 27 | 26 | 25 | 24 | 23 | 22 | 2]
20 | 19 18 17 16 15 JA 13 12 Il
10 9 8 1 6 5 L 3 2 I

otal of two marks: one mark if all the red numbers are

correct: one mark if all the blue numbers are correct.




